EARAROBEEIERT — 2 N— IBISH —F

20174E3H8H (k) 18EA#H3H

il o R—fik C3AK

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1600M THE

[A~&£] 17 :800,000  ~ 23&:320,000H ~ 33 :200,000H ~ 43:120,000 ™ 5 & :80,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 # 5 | FHEEE 1:46.2 10-10-10-10| 41.4 | — 8 447 | BEEE (KFH)
117111 a1y F -+ 56.0 : (-) o) Eﬁ%ﬁ'ﬁ&ﬁ
¥+ TTroR70—7 B:FR/UNF BG4S
C— e e — A 1 146. ~7-6~ . — M= (K3H)
KZd2HR—7 5 G 54.0 ! (416)4 [ e ’ ?ff) %EEEVEEK
R:2=J¥LLy b BIHIFTAE— MAstt IUACTr—L
N 47 | BEX 1:46.6 5-5-5-5 |42.5| — 2 462 | BRAZEZ ()
Z/_#? - o 5.0 (1 1/4) @) | BEXE
TTy k=Y B:X/—FF1 b ek A
#1138 : ~12-9- — KA (KH)
NFIIN>D 3 o 54.0 (17";65) 1171299 | 42.0 ° (ff?) IREFIE =R
R:T74=—T14FA4F—XY> B:a0=7IT1—/\ Hro—€>
# o4 | REHEZ 1:46.9 1-2-2-1 | 43.0| -— 5 464 | BER (KFH)
TAAL—~N> %.0 (1 3/4) © /(m H—I k>
R:27)—>e—0O— B:2yTHELZ =t =i
5 > 5 | AR 1:46.9 4-4-1-2 | 43.0| — 1 442 | EEFRZ (KH)
6|8[13 v I~¥FT 77 6.0 (NF) G | EER
LT RYMY+—-5 B:SNLT1—-1 BEARYUS
Py Ko — 4 o6 | mlFEHE 1:47.0 9-9-8-8 |42.5| — 7 477 | ETAZ (NHK)
75|77V F4— 56.0 (7E) (o) | BAME
L= FTO—- BN ITT4—2 PAE ST ]
N K EEEA . o 7_ — HNEREE (KH)
8 4| XS TNT =1 o4 L (11.417/.42) 8-8-7-6 | 42.7 1 (4:324) ;;;mg;
RV RYIYRIZR B:ZR¥/TOYHL BRAMIS
# 5 | AHES 1:47.8 6-6-4-3 | 43.9| — 4 503 | /NEFFEZRE (1)
9l8l14| PAX 56.0 3) o |BENEX
R:Tv G Rry b B:Z7741R% J=YrTrp—L
N AN :49. -1-3- . = AR (KH)
10 3 KAy T — A 4 4 an I 1(45))0 1-1-3-3 | 45.1 10 (4_621) g
X423 R-—5— B:ILAXTILR LB FE
PILT S - B4 | EKRER 1:49.2 12-11-11-11{ 44.2 | — 13 | 459 |EFHZ (K¥H)
"1/ —7Nm77v7 54.0 (3/4) Lo |EAME
R:TTYIRAR BAAAFRE ETa: I
RN . fo4 | REEE 1:53.0 1-3-12-12 [48.4 | — | 14 | 434 |®EF0X (KH)
120 12| NI ATSITF v~ 54.0 (5149) O | ) EEER
L:y—-VH—- B:xrvY #Xett RUMI Z77—4
. — - B - STER (KH)
x5 8| FuF—1NUTb B e (s1b) ’ ;‘537) sy
L:¥rinMao— B:O-Lidzayvy L EFEKS
= . 5 | FEfE— = = = = 478 | BEFME (KFH)
*% 9|FTFaINE-F| # 6.0 (chib) 6 (_78) ) FFaTI
L:THIHFLIL B7YYIEY L Heh &HXE
® 1—F—@EBIERL
13=7r= (3,6,12),13,2,14,5,4,7,11,10,1
2a=5F= 3,6,12,13,2,14,5,4,7,11,1,10
Jol=5r= 13,6,3,14,2,5,4,7,10,11,1,12
43—+ — 6,13,(3,14),2,(4,5),7,10,11,1,12
[ /N
BB 1 2,760 | [ 74 K 5-11 4,130 | | # = 4-7 8,030 | | 3ER 2-5-11 33,810
B B 1 640/ 2-11 1,700H e B 7-4 20,6004 3EE 11-5-2 357,730
5 640M 2-5 1,410 B & 5-11 34,960
2 1509 B H 11-5 48,8504

ABICOVWTRDTEEERROODE. TR LIV,




